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9.4 x 103

5.3x 107

1.2x102

1.6 x 105

(9.4 x 103)(1.2 x 10-2) =

(9.4 x 1.2)(108 x 102) =
(11.28)(101) =

(1.128 x 101)(101) = 1.128 x 102

(1.6 x 105)(5.3 x 107) =
(1.6 x 5.3)(105 x 107) =
8.48 x 102

(9.4x103) + (1.2x102) =
(9.4 +1.2)(103-(2) ) =
(7.83)(105) =

7.83 x 105

(1.6 x 105) + (5.3 x 107) =

(1.6 + 5.3)(105- (7)) =
(.302)(1012) =

(3.02 x 101)(1012) = 3.02 x 1011

25X-2Y - 11X-2Y - 2Y2 = 14X-2Y - 2Y2
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4B2 + 3AB - 5B2 = 3AB - B2
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16) 33424+ 22460 =334/4-6 +224f4-15 =

666 + 44415
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11) (8.1 x 103)(4.5 x 10-5) =
27.45 x 102=
(2.745 x 101)(10°2) = 2.745 x 101

12) (9.8 x 106)(1.4 x 102) =
(9.8 x 1.4)(10°6+2) =
(13.72)(10-4) = 1.372 x 10'3

13) (6.3 x105) +(9x 109) =
7 x104
(7 x 10-1)(10-4) = 7.0 x 10-5

2
14) (9.3 x 105X x 10°8)
(8x 102)
(18.6 x 10-13) = (1 x 102)
18.6 x 1015 =1.86 x 10-14
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15) 3A8 B2 C2 + 6AB2 C2 - 4AB2 C2=
3A-3B2C2 + 2AB2 C2

16) ﬁ.ﬂ:zs x 10 =
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(5.8x101)(3.7 x 108) =
21.46 x 107 =
2.146 x 10

(4.6 x 109)(8.2 x 107) =
(37.72 x 10-2) = 3.772 x 101

13) (9.6x 106) = (3.2x 101) =
(9.6 +3.2)(106-1) =
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11) (3.4x104)(2.6 x 107) =
(3.4 x 2.6)(10-4+(-7)) = 8.84 x 10-11

12) (7.7 x 104)(7.4 x 108) =
56.9 x 1012 =
5.698 x 1013

13) (49x104) +(7x109) =
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3000 - 15X = 60X - 1500
4500 = 75X
X =60

I¥-Ay Suonnjos




